
G Gruppe A - Spielplan

Spiel 1 Spiel 2 Gesamt

8:39 A 01 Riegler Josef 42 + 51 = 93

A 06 Harucksteiner Thomas 44 + 53 = 97

8:46 A 02 Rathgeb Helmut 45 + 42 = 87

A 05 Reichenberger Peter 55 + 51 = 106

8:57 A 03 Leutgeweger Rudolf 43 + 45 = 88

A 04 Frühwirth Hermann 53 + 51 = 104

9:04 A 06 Harucksteiner Thomas 51 + 46 = 97

A 04 Frühwirth Hermann 39 + 49 = 88

9:10 A 05 Reichenberger Peter 55 + 59 = 114

A 03 Leutgeweger Rudolf 50 + 56 = 106

9:19 A 01 Riegler Josef 48 + 52 = 100

A 02 Rathgeb Helmut 48 + 49 = 97

9:26 A 02 Rathgeb Helmut 53 + 44 = 97

A 06 Harucksteiner Thomas 51 + 50 = 101

9:32 A 03 Leutgeweger Rudolf 45 + 54 = 99

A 01 Riegler Josef 65 + 50 = 115

9:38 A 04 Frühwirth Hermann 49 + 54 = 103

A 05 Reichenberger Peter 43 + 56 = 99

9:47 A 06 Harucksteiner Thomas 44 + 57 = 101

A 05 Reichenberger Peter 60 + 55 = 115

9:56 A 01 Riegler Josef 54 + 51 = 105

A 04 Frühwirth Hermann 49 + 57 = 106

10:03 A 02 Rathgeb Helmut 42 + 46 = 88

A 03 Leutgeweger Rudolf 44 + 52 = 96

10:10 A 03 Leutgeweger Rudolf 57 + 48 = 105

A 06 Harucksteiner Thomas 54 + 59 = 113

10:17 A 04 Frühwirth Hermann 47 + 44 = 91

A 02 Rathgeb Helmut 47 + 64 = 111

10:23 A 05 Reichenberger Peter 45 + 49 = 94

A 01 Riegler Josef 49 + 53 = 102

Seite 1


